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Question Number : 1 Question Id : 6801917431 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the 10th term of the following series?
7.14,28.............

. 3076
. 3584
e
4.6144
Options:

|

Taa

68019129201. 1
68019129202. 2
68019129203. 3
68019129204. 4

Question Number : 1 Question Id : 6801917431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

fFrofataa gaa &1 10df Ug T 2

T I2B

. 3076
. 3584
.56
4. 6144
Options :

| R

L]

68019129201. 1
68019129202. 2
68019129203. 3

68019129204. 4

Question Number : 2 Question Id : 6801917432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the missing term?
5.17.37.65, .145

. 100
. 101
3. 102
4. 99

Options :

| R

68019129205. 1
68019129206. 2
68019129207. 3

68019129208. 4

Question Number : 2 Question Id : 6801917432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Frafafad gaar d Rad = 9 DI O F=31 g 2

5.17.37.65, .145

1. 100
2.101
3.102
4. 99

Options :

68019129205. 1
68019129206. 2
68019129207. 3

68019129208. 4

Question Number : 3 Question Id : 6801917433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Amit was counting down from 34,Punit was counting upwards the numbers starting from 2 and
he was calling out only the even numbers. What common number will they call out at the same
time 1f they were calling out at the same speed?

22
23
.24
4. They will not call out the same number.

fad d —

Options :

68019129209. 1
68019129210. 2
68019129211. 3

68019129212. 4

Question Number : 3 Question Id : 6801917433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

b2 =

68019129209. 1
68019129210. 2
68019129211. 3
68019129212. 4

Question Number : 4 Question Id : 6801917434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a class.4/5 of the students are boys and rest are girls. If 2/5 of the boys and 1/4 of the gutls are
absent., what part of the total number of students is present?

1.37/100
2.63/100
3.53/100
4.47/100

Options:

68019129213. 1
68019129214. 2
68019129215.3

68019129216. 4

Question Number : 4 Question Id : 6801917434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.37/100
2.63/100
3.53/100
4. 47/100

Options:

68019129213. 1
68019129214. 2
68019129215. 3
68019129216. 4

Question Number : 5 Question Id : 6801917435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Statements: Some pens are books.

All Schools are Books.

Some Colleges are Schools.

Consider the following conclusions based on above statements.
(A).Some Colleges are pens.

(B).Some Pens are Schools.

(C).Some Colleges are Books.

Choose the correct conclusions from the options given below:

. (A). and (B)
_(A). (B). (C)

. (C) only.

4. (B). and (C) only.

| I

L]

Options:

68019129217. 1
68019129218. 2
68019129219. 3
68019129220. 4

Question Number : 5 Question Id : 6801917435 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(A). 3R (B)

.(A), (B), (C)
.&ad (C)

.%ad (B), 3R (C)

Options :

b

FES

68019129217.1
68019129218. 2
68019129219. 3

68019129220. 4

Question Number : 6 Question Id : 6801917436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There 15 a certain relation between two given words on left side of :: and one word is given on
the right side of :: while another word 1s missing. Select the missing word which have same
relation as the word pairs on the left side of :: symbol.

Current : Circuit :: Earth: ?

1. Solar System
2. Orbit

3. Planet

4. Moon

Options :
68019129221. 1
68019129222. 2

68019129223. 3



68019129224. 4

Question Number : 6 Question Id : 6801917436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3R e a1 § Safdp GERT Xe T4 5| WU §U Xeg 1 954 B oria] 8y ' Wl &
815 3R P Yeg WIS b G Bl

Current : Cireuit :: Earth: ?

1. Solar System
2. Orbit

3. Planet

4. Moon

Options :

68019129221. 1
68019129222. 2
68019129223. 3

68019129224. 4

Question Number : 7 Question Id : 6801917437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select a suitable figure from the given options that would complete the figure matrix?

)
B

?

7%k

A) ®) ©) D)

1. (A)
2. (B)
3.(C)
4. (D)

+| Rl s
#| [ X

Options :

68019129225. 1
68019129226. 2
68019129227.3

68019129228. 4

Question Number : 7 Question Id : 6801917437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f&u U fahedl & U U SUge SMpid &1 90 B Sl SMpid HiCH B R 2

YIX\
2710
F|| 2

b 3 i

A) B) (©) D)

1. (A)
2.(B)
3 {0)
4.(D)

Options:



68019129225. 1
68019129226. 2
68019129227. 3

68019129228. 4

Question Number : 8 Question Id : 6801917438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Four students are sitting on a bench to be photographed. Kamal is to the left of Amrita, Dipak is
to the right of Amrita. Ankit 1s between Amrita and Dipak. Identify students sitting in corner's of
the bench?

1. Kamal, Ankit
2. Kamal, Dipak
3. Dipak. Amrita
4. Amrita, Ankit

Options :

68019129229. 1
68019129230. 2
68019129231.3

68019129232. 4

Question Number : 8 Question Id : 6801917438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. S, 3ifdbd
2. B, SUD
3. e, 3l
4. T, b

Options :

68019129229. 1



68019129230. 2
68019129231. 3

68019129232. 4

Question Number : 9 Question Id : 6801917439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K 1s the son of A's mother’s sister. Q 1s daughter of D. who 1s the father of G and grandfather of
A. P 18 the daughter of H who 1s grandmother of K. D 13 husband of H and G 1s husband of L.
How 1s P related to Q?

1. Sister

2. Mother
3. Daughter
4, Cousin

Options:

68019129233. 1
68019129234. 2
68019129235. 3

68019129236. 4

Question Number : 9 Question Id : 6801917439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. dgd
2.7

3. 9¢1

4. TR TH

Options :

68019129233. 1



68019129234. 2
68019129235. 3

68019129236. 4

Question Number : 10 Question Id : 6801917440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It has been established that

(A).Aryabhatta was

(B).Although a great mathematician

(C).Weak 1n science

(D).Right from his school days

What will be the sequence to make a correct statement from the above options

.(A). (B). (C). (D).
.(B). (A). (C). (D).
.(B). (A). (D). (C).
(Q). (B). (D). (A).

|

e faa

Options:

68019129237. 1
68019129238. 2
68019129239. 3
68019129240. 4

Question Number : 10 Question Id : 6801917440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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.(A). (B). (C). (D).
.(B). (A). (C). (D).
.(B). (A). (D). (C).
4. (C). (B). (D). (A).

|
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Options :

68019129237. 1
68019129238. 2
68019129239. 3

68019129240. 4

Question Number : 11 Question Id : 6801917441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

One day, Amit left home and cycled 15 km southwards. turned right and cycled 7 km and turned
right and cycled 10 km and turned left and cycled 5 km. How many kilometres will he have to
cyele to reach his home?

17 km
.12 km
.13 km
4.37km

Options :

2 =

Lo %]

68019129241. 1
68019129242. 2
68019129243. 3
68019129244. 4

Question Number : 11 Question Id : 6801917441 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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.17 km
12 km
.13 km
4.37 km

Options :

2

L¥%]

68019129241.1
68019129242. 2
68019129243. 3
68019129244. 4

Question Number : 12 Question Id : 6801917442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the missing character?

45
4?7
413

[ = s
(2= L]

| R

o g
o MDD - L

Options:

68019129245. 1
68019129246. 2
68019129247.3
68019129248. 4

Question Number : 12 Question Id : 6801917442 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
U 0 o § FRad ®IF R & It TaT e

15
4P
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fasa Bd —
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4.8
Options :
68019129245. 1
68019129246. 2
68019129247.3
68019129248. 4

Question Number : 13 Question Id : 6801917443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the odd one out.
(A). August (B). October (C). November (D). March

1. August

2. October

3. November
4, March

Options:

68019129249. 1
68019129250. 2
68019129251.3

68019129252. 4

Question Number : 13 Question Id : 6801917443 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 fdoed I &l §ig & 3= fddbedl 9 3o gl 2
(A). HIT

(B). g

(C). TdaR

(D). AE

fas o —

4. 1714
Options :
68019129249. 1
68019129250. 2
68019129251. 3

68019129252. 4

Question Number : 14 Question Id : 6801917444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code 1if SCOTLAND 15 written as 12345678, LOAN 1s written as 1435.LOTS 15
written as 8124.DAN 1s written as 537 and SON 1s written as 458, then what will be the code for
'C"?

A R
2 L e

18
Options:
68019129253. 1
68019129254. 2
68019129255. 3

68019129256. 4

Question Number : 14 Question Id : 6801917444 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U5 Fd PSS A U SCOTLAND @1 12345678 & T H fORa1 1T 8. LOAN @l 1435 &
U H foRa 91 8. LOTS Tl 8124 & & H @l 911 6. DAN $1 537 % &Y A a1 ol &
3R SON T 458 B Y H feRg o &, dt 'c' & forw i an s

L B
L

18
Options :
68019129253. 1
68019129254. 2
68019129255. 3

68019129256. 4

Question Number : 15 Question Id : 6801917445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If P means +'. A means 'x' B means '—' and J means '+, then 14J12P3A6B7=?

I =

8
8

— 2

Taa
i

-I 35
Options :

68019129257. 1
68019129258. 2
68019129259. 3

68019129260. 4

Question Number : 15 Question Id : 6801917445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
g pHI g+ APTHE G 'x BHT A B — 3R J BT 34 § '+, T 1412P3A6B7 =2

| S =
[ ]

e —

8
8

L)

4.35
Options :
68019129257. 1
68019129258. 2
68019129259. 3

68019129260. 4

Question Number : 16 Question Id : 6801917446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are TRUE?

(A). If each element in a row is a constant multipilier of corresponding element of another row
of a determinant , then the value of the determinant is always non-zero.

(B). If each element on one side of the principal diagonal of a determinant 1s zero. than the value
of the determinant is the product of the diagonal elements.

(C). The value of determinant of skew symmetric matrix of odd order is always non-zero.

; 2 . i - i ]
(D). If A 1s a non-singular matrix of order three. then adj A| = Al
Choose the correct answer from the options given below:

1. (B) and (D) only.
2.(A) and (B) only.
A).(B) and (C) only.
A). (C) and (D) only.

— — — a—

3:
4.
Options :

68019129261. 1
68019129262. 2
68019129263. 3
68019129264. 4

Question Number : 16 Question Id : 6801917446 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (B) 3R (D) Had
2. (A) 3R (B) Fad|
3. (A). (B) 3R (C) Faal
4.(A). (C) 3R (D) Paq|

Options:

68019129261. 1
68019129262. 2
68019129263. 3
68019129264. 4

Question Number : 17 Question Id : 6801917447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The mean of 5 data is 5.2 and their variance 13 27.296.If three of the data are 1.3 and 6 then other
two data are

1.12 and 4
2.9and 7
3.10and 6
4,11and 5

Options :

68019129265. 1
68019129266. 2
68019129267. 3

68019129268. 4



Question Number : 17 Question Id : 6801917447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 3ol BT AT 5.2 8 AR ITPT [d=TR 27,296, TS fiF 3fids 1.3 AR 68 al ATl

1.12 3R 4
2.93R7
3.10 3R 6
4.11 3R 5

Options:

68019129265. 1
68019129266. 2
68019129267. 3

68019129268. 4

Question Number : 18 Question Id : 6801917448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let ¢ > 21s an integer.If there are only 10 positive integers satisfying the inequality
(x — a)(x — 2a)(x — a?) < 0 then the value (/s) of ¢ 1s:

1.3and 4
2.3
3.-3

4.4
Options :
68019129269. 1
68019129270. 2
68019129271. 3

68019129272. 4

Question Number : 18 Question Id : 6801917448 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T AT 6 o > 2 TP QU 8. SR (1 — o) (x — 20) (x - 02) < 0 DI TP FA AT ey
10 4T QU & al o 1/ A 875

1.3 34
2.3
B3

4.4
Options :

68019129269. 1
68019129270. 2
68019129271. 3
68019129272. 4

Question Number : 19 Question Id : 6801917449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the system of linear equations as 2x + 2y +z = 1,4x + ky + 2z = 2and kx + 4y +z = 1 then
choose the correct statement(/s) from below

(A). The system of equations has a unique solution if k = 4 and k = 2

(B).The system of equations 1s inconsistent for every real number k

(C). The system of equations have infinite number of solutions if k = 4

(D).The system of equations have infinite number of solutions if = 2

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2.(A). (B) and (C) only.
3.(A). (C)and (D) only.
4.(C) and (D) only.

Options :

68019129273. 1
68019129274. 2
68019129275. 3

68019129276. 4



Question Number : 19 Question Id : 6801917449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

D G 25+ 2y 2= Lar +hy+22=2 kv +dy +2=1 B FOA R [GIR B R
1 9 el PY /HYl BT I

(AVTHIBRU Bl P IS Afgdagas ale k+dandk#2

(B) GHITUT & T TA® aRaidd ST k & U /v &

(C) THERU & o HaFAd At Og & = 4

D) GHIGRUN & el § 3Fd 80 841G 12

4 feu T fodedl & 9 T51 SR A |

Options:

68019129273. 1
68019129274. 2
68019129275. 3

68019129276. 4

Question Number : 20 Question Id : 6801917450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are true

(A). Ogive graph 1s used to measure the median of the collection of datas

(B). Two events A and B are such that P(A)=1/2 and P(B)=7/12 and P(not A or not B)=1/4 then A
and B are independent events.

(C). Relation for mean. mode and median 1s given by Mode = 3 Median - 2 Mean

(D). The number of two-digits even number formed from digits 1.2,3.4.5 15 10

Choose the correct answer from the options given below:

A) and (B) only.
.(A) .(Cand (D) only.
C) and (D) only.
B)

B) and (C) only.

1,
2

,—_\,—\,—\,—\

Options :



68019129277.1
68019129278. 2
68019129279. 3

68019129280. 4

Question Number : 20 Question Id : 6801917450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BN IR RIE R

(A)3MFS! & TTE & AT Bl 719 & o7 IR0 1% 1 Wi foan ol &

(B)a T AIRBUHE B P(A) =12 3RP(B)=712 RP AT M ATAMB ) = 147

ﬁ?BEﬂﬁW?I

C) Ted, S5a R AP & oy ey a5ad = 3 LI -2 HIe (Mode = 3 Median -2
I&-Ieanjmﬁmm_[%
(D) 1.2.3.4,5 31 YT ol i1 o 90 Temell o TBI 10§
< feu e fadedi & 9 98 SR |

1. (A) 3R (B) Had|
2.(4).,(C) 3R (D) Faa
3. (C)aﬂ?(ﬂ)aﬂﬂl
4.(B)

Options :

68019129277. 1
68019129278. 2
68019129279. 3

68019129280. 4

Question Number : 21 Question Id : 6801917451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



There are 15 pomts 11 a plane such that 5 ponts are collinear and no three of the remaining
points are collinear then total number of straight lines formed are :

. 105
)
.96
4. 106

Options :

fag B2 —

68019129281. 1
68019129282. 2
68019129283. 3
68019129284. 4

Question Number : 21 Question Id : 6801917451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T qa i 15 fig O eR § o 5 fig ey § R 3w figall # 3 o oft i el e
8 1 §T8 T ATl W K@il &l §a G &

. 105
.95
3.96
4.106

Options :

b =

68019129281. 1
68019129282. 2
68019129283. 3

68019129284. 4

Question Number : 22 Question Id : 6801917452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are NOT TRUE?
(A). If A and B are symmetric matrics, then AB-BA 1 a skew symmetric matrix.
(B). Multiplying a determinant by k means multiply elements of only one column by k.

(C). IfFAZ-A+1 =0, then Al is equal to A+L.
(D). If A and B are invertible matrices of same order, then (A+B jb=R Al
Choose the correct answer from the options given below:

). (B) and (D) only.
). (C) and (D) only.
3.(C) and (D) only.
4. (A) and (C) only.

L.
2

(
(B

A
€
Options :

68019129285. 1
68019129286. 2
68019129287. 3
68019129288. 4

Question Number : 22 Question Id : 6801917452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ffed & § & 91 $YH 90 T8l 82

(A) Tig A 3R B YA 3oz ©. Al AB-BA S fd9d FHid Sedg &

(B) Tl ARTO® D1 k 3 0N B 1 31U § D T TH & 3fagal B k F 00 S|
() lg AZA+T =0T AL A+ 1P RE SHT

(D) MG A 3R B U 81 Biic & oehHUi Mg 5, al (A-B)y'=B1+Al
< feu e fomed! 4 § 961 S|

Options:

68019129285. 1
68019129286. 2
68019129287. 3
68019129288. 4



Question Number : 23 Question Id : 6801917453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the roots of the equation x2 + 4x + a2 — 3@ = 0 are real then the value of & 13(/are)

. &t € (—o0,—1) U (4, o0)
ca € (—oo,—1] U [4, 0)
ca € [-24]
4. we[-1,4]

= —

L]

Options :

68019129289. 1
68019129290. 2
68019129291. 3

68019129292. 4

Question Number : 23 Question Id : 6801917453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ofd TN +2 4 ax + a3—3a={]$%w—ﬁ$g?ﬁ ﬂfa’—[:m:[%{%}

@€ (—m,—1) U (4, o)
.o € (—oo,—1] U [4, o2)
. a € [-24]
4. ae[-14]

L b =

Options :

68019129289. 1
68019129290. 2
68019129291. 3

68019129292. 4

Question Number : 24 Question Id : 6801917454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The value of x satisfies the inequality |x — 1| + |x— 2| = 4 if

1 7

1, ¥eim U

X Eifon, E]U[Z?Jm}
3 o e 5
2. x € ( cfu? U 5. )
Ry e

e 1 ?}

TN e

Options :

68019129293. 1
68019129294. 2
68019129295. 3

68019129296. 4

Question Number : 24 Question Id : 6801917454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x BT T8 A Sl HAEDBT |x— 1] + [x— 2| > 4 DI P PIAT S -

Lxe (0,5l UE, o)
22 (~0,-3) U G, )
17
3 hp
x| 21%]
4-XE{—§E}
Options :

68019129293. 1
68019129294. 2
68019129295. 3

68019129296. 4

Question Number : 25 Question Id : 6801917455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Ifxy. %5, X5 as well as y;. y,. y3 are in G.P. with the same common ratio. then the points (x;. y¢).
(X5. y) and (x3. y3)

1. Lie on a straight line.

2. Lie on an ellipse.

3. Lie on a circle.

4. Are vertices of a triangle.

Options :

68019129297. 1
68019129298. 2
68019129299. 3

68019129300. 4

Question Number : 25 Question Id : 6801917455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

qﬁ; 1. K. Xg $ Y-y Vi ¥ }’3%13% ]lU H { Mﬁ%?ﬁ %g (X-l. \f]_:i {Xz. YE} a:hq [;?{3.
Ya}ﬁﬁ'

1. U O3 T R [

2. TP g | f&d
3R
PRGAEHEE I

Options :

68019129297. 1
68019129298. 2
68019129299. 3

68019129300. 4

Question Number : 26 Question Id : 6801917456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



There are 200 students n a school out which 120 students play football .50 students play cricket
and 30 students play both football and cricket. The number of students who play one game only
18:

1. 110
2. 140
3.200
4.170

Options :

68019129301. 1
68019129302. 2
68019129303. 3

68019129304. 4

Question Number : 26 Question Id : 6801917456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% T 200 BT € 5 § 120 B Pedia Gad €. 50 BT fobdhe Ward © 31k 30 B
Bedld 3R fhde I Wad 5. dad U Ua 9o ard 811 3 G ¢

110
140
. 200
4.170

Options :

T b2 —

68019129301. 1
68019129302. 2
68019129303. 3

68019129304. 4

Question Number : 27 Question Id : 6801917457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If all permutation of the letters of the word '"AGAIN' are arranged in the order as in a dictionary
then 49th word 1s :

1. INGAA

2. INAAG

3. NAAGI

4. GNAAI
Options :
68019129305. 1
68019129306. 2
68019129307. 3

68019129308. 4

Question Number : 27 Question Id : 6801917457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS AGAIN' Teg & 31&RT & Tt PHURGo ol UsSHIY & 5F 1 ouareyd [ s g at
491 g BT

1. INGAA

2. INAAG

3. NAAGI

4. GNAAT
Options :
68019129305. 1
68019129306. 2
68019129307. 3

68019129308. 4

Question Number : 28 Question Id : 6801917458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are TRUE?

(A). A equation ax?+ bx + ¢ = 0 has real and distinet roots if »2—4ac = 0anda=0

(B). The unit digit in 4918 15 1

(C). If two lines make complementry angles with the axis of x then the product of their slopes is
1.

(

D). The line bx— ay = 0 meet the hyperabola X _ i_ =1
P
Choose the correct answer from the options given below:

A) and (D) only.
.(B) and (C) only.
A). (B) and (C) only.
A). (B) and (D) only.

L.
2

— — — —

3:
4,
Options :

680191293009. 1
68019129310. 2
68019129311. 3

68019129312. 4

Question Number : 28 Question Id : 6801917458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BRI R IR R R S kR,
Aj.@maf+bx+c:ﬂ$%aﬁﬁ$ﬁq5mmﬁﬁqﬁ b*—4ac>0anda=0
. 4913ﬁ3@§34f51%
C). TR T @I x 31ef & F1Y b DIV &AL § ol G791 Sl bl TUFHe 1 G|
WIJx—ay_ né{i?fw____l@fﬁﬂﬁél

aﬁﬁqn’qﬁwﬂﬁﬁﬂﬁwﬁ

Options :

68019129309. 1
68019129310. 2
68019129311.3
68019129312. 4



Question Number : 29 Question Id : 6801917459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A equation of a conic 18 ax2 + 2hxy + by? + 2gx + 2f v+ ¢ = 0, where a, b, ¢, f, g and h are contants
Then which of the following statement are true?

(A).The given conicis circle if g = 0and b= 0

(B).The given conic 1s circle if g = b = 0 and h = 0.

(C).The given conic is cirele if g = b = 0 and h = 0

(D).The given conic represents a pair of real and distinets straight lines if
f=g=c=0andh’—ab>0

Choose the correct answer from the options given below:

B) only

B) and (D) only.

A). (B). (C) and (D).
D) only.

L(
3-(
3.(
4.(

Options :

68019129313. 1
68019129314. 2
68019129315. 3

68019129316. 4

Question Number : 29 Question Id : 6801917459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WWW ax®+ 2hxy +by* +2gx +2f y+ c =0, aﬁa.b.c.f.gﬁ_{hﬂg.?ﬁ
Fefffad Ip w e ga e

@3 TR IT. JHeAGa=0TUb=0
(Bjﬁ{mw g dld a=b 0TUTh=08
(Cjaﬁﬂ%m?@%uﬁa—b 0dUTh 0
(D)ﬁmwm@wﬁﬁamﬁwaﬁaﬁwﬁhﬁﬁﬁﬁ@aw%ﬁ%

= —c—ﬂmldh-—ab‘:ﬂ

ﬁﬁﬁqwﬁwﬂﬁﬁﬂﬁﬁﬁ
1. (B) dhad
2. (B) 3R (D) Sad
3.(A). (B). (C) 9ik (D)
4. (D) dad|
Options

68019129313. 1
68019129314. 2
68019129315. 3

68019129316. 4

Question Number : 30 Question Id : 6801917460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A line passes through a point (2.3) such that sum of its intercepts on the axes 1s 12 then equation
of line(/s) 15(/are) given by

(A).3x +y=9

(B).x+3y=9

(C).x+2y=8

(D).5x+Ty=35

Choose the correct answer from the options given below:

A) only

.(A). (B) and (C) only.
.(A), and (C) only

4. (B). (C) and (D) only.

L.
2

— p— — —

Options :
68019129317. 1
68019129318. 2

68019129319. 3



68019129320. 4

Question Number : 30 Question Id : 6801917460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w%@ﬁgtz.s)@ﬁﬂﬁﬂaﬁ%%a{&ﬁwm 3 W1 TN 12 5 T @ I

(A).3x +y= 9
(B).x+3y=0
(C)x+2y=8
(D).5x+7y=35

14 feu e foe el & 9 el SR T

1. (A) Do
2.(A), (B) 3R (C) Bad
3.(A) 3R (€) pad

4.(B), (C) 3R (D) Faq

Options :

68019129317.1
68019129318. 2
68019129319. 3

68019129320. 4

Question Number : 31 Question Id : 6801917461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII
Eccentricity of the conic
x2—dx+4y+4yi =121

I. |10/3

B. |Latus rectum of conic 5x2 +9y2 =451s | IL |1

The straight line x + y = g touches the m |

curve y = x — x2 then value of a 1s

D. |Eccentricity of conic 3x2 —y2 = 4 1s IV. W32

Choose the correct answer from the options given below:

(A) - (I). (B) - (ID). (C) - (IV). (D) - (III)
. (A) - (II). (B) - (I). (C) - (III), (D) - (IV)
(A) - (IV). (B) - (I). (C) - (I). (D) - (IIT)
(A) - (IV). (B) - (II). (C) - (I). (D) - (IIT)

2 =

e faa

Options :

68019129321. 1
68019129322. 2
68019129323.3

68019129324. 4

Question Number : 31 Question Id : 6801917461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 SR l-11 o1 gafed B

T -1

i %x:—ix+4}=+4}-‘3:lzﬁ T
U [Ssar '

B. |2P 512+ 9y2 = 45 DIANH T & |1

C Qﬁwm{+}=:aﬁﬂ5}::x—x3 L |2

B TR B e dla BT A |

D. [RF 3x2—y2 = 4 DI SHHA & v |32
- feu e fos el T 9§ 981 S I |

1. (A) - ). (B) - (II). (C) - (IV). (D) - (III)
2. (A) - (IT). (B) - (I). (C) - (III). (D) - (IV)
3.(A) - (IV). (B) - (). (C) - (II). (D) - (IIT)
4. (A) - (IV). (B) - (IT). (C) - (I). (D) - (III)



Options :

68019129321. 1
68019129322, 2
68019129323.3

68019129324. 4

Question Number : 32 Question Id : 6801917462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An equilateral triangle 1s inscribed in a parabola y2 = 8x whose one vertex 1s at the vertex of the
parabola then the length of the side of the triangle is:

. 83 units
. 16v3 units
- 43 units
. V3/2 units

L b2 —

=N

Options:

68019129325. 1
68019129326. 2
68019129327.3

68019129328. 4

Question Number : 32 Question Id : 6801917462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

% THATE Y U TRAT 2 = g B Siqd TR ¢ forea! 0o dif oo & i me
A B &

-Sﬁm
16/33P18
-4@@_5;
4.3/ 2591

Options :

L



68019129325. 1
68019129326. 2
68019129327. 3

68019129328. 4

Question Number : 33 Question Id : 6801917463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of a circle that passes through the points (3.0) and (0.-2) and its centre lies on a
line 2x + 3y = 3 then equation of the circle 1s given by

Ly?+y?+2x+16y+72=0

2 10x2 4+ 10y —6x—16y—72=0
3.5x2 45y +6x +16y+72=0
4 10x2+ 10y + 6x+ 16y —72 =0

Options :

68019129329. 1
68019129330. 2
68019129331.3

68019129332. 4

Question Number : 33 Question Id : 6801917463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 T B UGV A Pl [6g3T (3.0) AR (0.-2) U FIBR ToRal & AR fTgI g U
W2x+3}=:3q_{ﬁ3qﬁ%

La24+y2 420 +16y+72=0
21082 +10y2 - 6x—16y—72=0
3.5x 45y +6x+16y+72=0
41022 +10y2 + 6x+16 y—72=0

Options :
68019129329. 1
68019129330. 2



68019129331. 3
68019129332. 4

Question Number : 34 Question Id : 6801917464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the vertices of a triangle are (1.2).(2.5) and (4.3) then the area of the triangle 1s :

.3 Sq.units
. 4 Sq.units
. 6 Sq.units
4. 8 Sq.units

2 —

(%]

Options :

68019129333. 1
68019129334. 2
68019129335. 3

68019129336. 4

Question Number : 34 Question Id : 6801917464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe; et fBrys & 2fid (1.2). (2.5) 3IR (4.3) € & By &1 &% a BT -

1. 397 g@Tg
2. 4T gBIg
3.6 gPIg
4. 81 gBIS

Options :

68019129333. 1
68019129334. 2
68019129335. 3
68019129336. 4



Question Number : 35 Question Id : 6801917465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the parametric equation of a curve is given by x = ef cost and y = ef sint then the tangent to the

. T : . .
curve at the point t = i makes the angle with the axis of x 18

b =
= O

N =S )
~ =
I aa

Options :

68019129337. 1
68019129338. 2
68019129339. 3

68019129340. 4

Question Number : 35 Question Id : 6801917465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Hﬁwfﬁﬁﬁﬂﬁ%ﬁ?ﬂﬁwx: et cost mldyzersinrmuaﬁhﬁ;mm% {_‘ﬂﬁg
tzgﬂ?awé?%uwﬁﬁ@xﬂa 3481 & Y fa1 D0 a1t §

1.0

2. 1/4

3. w3

4. w2
Options :
68019129337. 1
68019129338. 2
68019129339. 3

68019129340. 4

Question Number : 36 Question Id : 6801917466 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-II

LISTI LISTII
Function Range
1 :
A = L. II1.7/3
3 2 —5in3x 174
Zhx+2 i - 3m
B g Tt e I E.mul=—
¥ x:+x+l’XER [2 ) i 2]
C. |y = sinx — cosx I01. |[1/3, 1]
D. |v = cot™}{—x) —tan~tx + sec x| IV. [[-v/2,4/2]

Choose the correct answer from the options given below:

. (A) - (IIT). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (III). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (D). (B) - (IIT). (C) - (I). (D) - (IV)
. (A) - (ID). (B) - (IIT). (C) - (IV). (D) - (I)

|

L]

=

Options:

68019129341. 1
68019129342. 2
68019129343.3

68019129344. 4

Question Number : 36 Question Id : 6801917466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Heil-1 1R GI-11 Bl ey

I I
B

B 1
T2 —sin3x
¥I4+x+2 T  3m
Sl e S I |[=,m) VU (m,—
x3+x+l'XE [2 m) U (m E]
C. |y = sinx — cosx IIT. |[1/3, 1]

D. |y = cot™{—x) —tan tx +sec™ x| IV |[—v2,42]

- feu e fosedl & 9§ 95l SR A |

. (A) - (). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (II). (B) - (II). (C) - (IV). (D) - (I)
. (A) - (D). (B) - (IIT). (C) - (I). (D) - (IV)
4. (A) - (II). (B) - (IT). (C) - (IV). (D) - (I)

Aly L |11 73]

B |y

g b —

Options :

68019129341. 1
68019129342. 2
68019129343. 3

68019129344. 4

Question Number : 37 Question Id : 6801917467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 —cosdx
———;x <0
X2
a;x =10

A function f(x)is defined as f{x) = ¥

= x>0
J{lﬁ +yx)—4

if the function f(x) is continuous at x = 0, then the value of a 1s :

| R

(5]
=G0 O e

4.10
Options :
68019129345. 1
68019129346. 2



68019129347. 3
68019129348. 4

Question Number : 37 Question Id : 6801917467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

f 1—cosdx

= cx <0
x=
) - a;x==0
TH Hol f(x)5H YR 9oa £ f(x) = 4 =
s X > 0
~~.=|{ 16 +x)—4

gfe BE £(x); x=0 R Idd ©. dl ¢ BIHMA &:

o b —
= 00 Oh e

4. 10
Options:
68019129345. 1
68019129346. 2
68019129347.3

68019129348. 4

Question Number : 38 Question Id : 6801917468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



b
If fla + b—x) = f(x) then f xf(x) dx 18 equal to

i}

b+a (° ;

b—a
2
a+bhb
2
a+bhb
2

—Lb flx)dx

b
j fla+x)dx

—be f(x)dx

Options :

68019129349. 1

68019129350. 2

68019129351. 3

68019129352. 4

Question Number : 38 Question Id : 6801917468 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
b =
qﬁf{:ﬂ+ b—x) = f(x) Fﬁf xf(x) dx D W%

| ]

4.

b

f fix)dx

o]
b

b;“Lf{x}m

a+b (®
jf{_a+x}dx

b+ a

a+h
2

J;bx fx)dx

Options:

68019129349. 1

68019129350. 2

68019129351. 3

68019129352. 4

Question Number : 39 Question Id

: 6801917469 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. y1—ecos2x
lim ——— =
x—+0 X

| S
D D

| ]

]
ba | = -

Options :

68019129353, 1
68019129354, 2
68019129355. 3

68019129356. 4

Question Number : 39 Question Id : 6801917469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- y1—cos2x
lim ———— =
x—=0 x

| o

1
g |
V2
1
2

N

Options:

68019129353. 1
68019129354. 2
68019129355. 3

68019129356. 4

Question Number : 40 Question Id : 6801917470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Match List-I with List-II

For fto be continuous. f{0) 15 given by

LISTI LISTII
Fanction fix) SU0)
A f{:x’} e M I |14
B. |r0) = log(4 + x) — log4 1l
e Rt |4
sin x
: 1— Cos3x .
D. gt e IV |3/4
fx) xSindx

Choose the correct answer from the options given below:

. (A) - (). (B) - (IIT). (C) - (IV). (D) - (II)
- (A) - (D). (B) - (IIT). (C) - (II). (D) - (IV)
(A) - (III). (B) - (I). (C) - (II). (D) - (IV)
. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)

o b —

=

Options :

68019129357. 1
68019129358. 2
68019129359. 3

68019129360. 4

Question Number : 40 Question Id : 6801917470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HEIl-1 3R GH1-11 B gHferd siford

Fo 9dd §H & 18, £(0) GRT faai 8
T 1 T 11
AT fx) A0)
P T b e L |1
B f{szlng{:4-+i]—log4 |1
C. | =Si% L. |4
— Cos3x .
D. f{:szﬁ Iv. [3/4
e feu e fasedl § 9 get 3T 1

L. (A) - (D). (B) - (II1). (C) - (IV). (D) - (II)
2.(A) - (I). (B) - (IIT). (C) - (I). (D) - (IV)
3. (A) - (I). (B) - (I). (C) - (II). (D) - (IV)
4. (A) - (ID). (B) - (1). (C) - AV). (D) - (II)

Options :

68019129357. 1
68019129358. 2
68019129359. 3

68019129360. 4

Question Number : 41 Question Id : 6801917471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The function f(x) = [x]* integern = 2 (where [y] 1s the greatest integer less than or equal to y). 1s
discontinuous at all points of

1. real numbers
2. all non-integer real numbers
3. only at zero
4. integers

Options :
68019129361. 1
68019129362. 2

68019129363. 3



68019129364. 4

Question Number : 41 Question Id : 6801917471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
BT (x) = [0 > 2 (61 [y] HoTH QOIS y Y 3 1 IR ). & 41 fdgsil ) sRida &-

1. AT&dlde Tl
2. 9t 3l areifas Tl
3. PR

iy
Options :
68019129361. 1
68019129362. 2
68019129363. 3

68019129364. 4

Question Number : 42 Question Id : 6801917472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If x2 + i = 2 then the value of x2s6 4 —}56 is
55

- =

1
.0

A

L]

4,
Options :

| R]

68019129365. 1
68019129366. 2
68019129367. 3

68019129368. 4



Question Number : 42 Question Id : 6801917472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
gig 2 L ol o6 4 L DIAAT
=

x 156

| I

1
4

4

L]

4.
Options :

| ]

68019129365. 1
68019129366. 2
68019129367. 3

68019129368. 4

Question Number : 43 Question Id : 6801917473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

1s
L 1= : ; ]
fw dx 18 equal to (where C is an arbitrary constant)
X

[ B
=
.
|
S
e
+
™y

Options :

68019129369. 1
68019129370. 2
68019129371.3

68019129372. 4



Question Number : 43 Question Id : 6801917473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 = i = =
G- s f5ge SER T (T6] C T WS 3R )

.‘XIE"
1 1\
(l—;) +C
1 L
7 5
o (xd——_;) G
&
[
3.2 1 l)5+C
24 e
5 1 :
4._( .1__)5
o3 x o +C
Options :

68019129369. 1
68019129370. 2
68019129371. 3

68019129372. 4

Question Number : 44 Question Id : 6801917474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII

L [ o I [

0 zindxtcostx

T

3

1
B. J‘ ———dx| 0. |1
g 1++/tanx

L s
C. j xe¥dx I |—
o

1
D. f x10%ppgB8y dy| TV
1

=1

Choose the correct answer from the options given below:

(A) - (IV). (B) - (II). (C) - (I). (D) - (II)
(A) - (IV). (B) - (II). (C) - (I). (D) - (I)
. (A) - (III). (B) - (IV). (C) - (IT). (D) - (I)
(A) - (). (B) - (IV). (C) - (I). (D) - (II)

fad 2 —

iy

Options:

68019129373. 1
68019129374. 2
68019129375. 3
68019129376. 4

Question Number : 44 Question Id : 6801917474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Heil-1 3R -1 & FAfd siford
! o

A : sinix i L

0 sindxtcosix

n

3 1

B. f —d
g 1++/tanx

x| IL. |1

o i
C. Lxe dx II1. B

L s
D. j x10%ppg8By dy| TV |-
iy 4

- feu e foeedl 4 9§ 95l SR A |

. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)
- (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
. (A) - (IIT). (B) - (IV). (C) - (II). (D) - (I)
- (A) - (III). (B) - (IV). (C) - (1). (D) - (II)

I =

F

Options :

68019129373. 1
68019129374. 2
68019129375. 3

68019129376. 4

Question Number : 45 Question Id : 6801917475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the region bounded by the curve y2 = 4x and x2 = 4y 15 :

. 16/3 Sq.units
. 23/6 Sq.units
. 13/3 Sq.units
4, 28/5 Sq.units

I =

L]

Options :

68019129377. 1
68019129378. 2
68019129379. 3
68019129380. 4



Question Number : 45 Question Id : 6801917475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W}’:=4xmx:=4}=ﬁﬁmﬁm%=

16/3 T 3BT
23/6 1 gBTg
133 T gBTg
4.28/5 1 gBI5

Options:

fag B2 —

68019129377. 1
68019129378. 2
68019129379. 3
68019129380. 4

Question Number : 46 Question Id : 6801917476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a computer if the page fault service time 1s 10 ms and average memory access time is 30 ns. If
one page fault 1s generated for every 106 memory accesses. What 1s the effective access time for
the memory?

1. 21 ns approximate
2. 25 ns approximate
3. 30 ns approximate
4. 40 ns approximate

Options :

68019129381. 1
68019129382. 2
68019129383. 3

68019129384. 4

Question Number : 46 Question Id : 6801917476 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Hugex B Ifg 96 Bice Ga1 90T 10 THUY 3 SR 319d | 3 997 30 Tid g | e

wﬂg 106 Wl SAfAATH & foI0 U Ug <19 S g1ell 8. o Wil & forg wurdt sy g
G b

1. 21 U0 G
2. 25 TUY T
3. 30 TUY QT
4. 40 TI0Y TTHAT

Options :

68019129381. 1
68019129382. 2
68019129383. 3

68019129384. 4

Question Number : 47 Question Id : 6801917477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider a system with 1K pages and 512 frames and each page is of size 2KB. How many bits
are required to represent the virtual address space memory

. 20 bits.
. 21 buts.
3. 11 bats.
4. 16 bits.

Options :

2 =

68019129385. 1
68019129386. 2
68019129387. 3

68019129388. 4

Question Number : 47 Question Id : 6801917477 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1K U813 512 154 aTcil U YUITell & Yidh UY 1 SR 2KB 3| T30 Uy TF HHR
I YR B o [oU feb e Bl afra=aedl gl 2

20feeg
21 feeg
11 feeg
16 faeg

Options:

o o R

68019129385. 1
68019129386. 2
68019129387. 3

68019129388. 4

Question Number : 48 Question Id : 6801917478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

An operating system contains 4 user processes each requiring 5 units of resource R. The
minimum number of required units of R such that no deadlock will ever occur 1s

.20

4
3.17
4.15

Options :

= =

68019129389. 1
68019129390. 2
68019129391. 3

68019129392. 4

Question Number : 48 Question Id : 6801917478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TS e Rien o 4 Sudiaa Wibant § SR @ Wibal &1 Ui §H & o I91ed
R P 5 3PSl D SALGHA ¢ | R G HaTD SIS DI JAqH S8 1 51 [ores Pig
RIS sad) Ht 78l g

0

— = 2

e s B =
LI . |

Options:

68019129389. 1
68019129390. 2
68019129391. 3

68019129392. 4

Question Number : 49 Question Id : 6801917479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The current allocation and maximum requirement of different types of resources for four
processes are given below:

— Max Allocation Available

Rl R2 R3R1 RZ R3R1 R2 R3
Py 8 6 4 |1 2 14 4 5
P, 4 T & B i 1
Py 10 1 3 4 i 3
P, 3 3 3 B 2 2

Consider the following four statements.

(A). P2-->P4-->P1-->P3 is a safe sequence.

(B). P4-->P2-->P1-->P3 is a safe sequence.

(C). P4-->P2-->P3-->P1 is a safe sequence.

(D). P1-->P4-->P2-->P3 1s a safe sequence.
Identify correct statements from the given options.

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (B). (C]and (D) only.
4.(A). (B). (C). (D)

Options:
68019129393. 1

68019129394. 2



68019129395. 3
68019129396. 4

Question Number : 49 Question Id : 6801917479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

mﬂ%@mﬁ%ﬁﬁmm%%ﬁww e AR ARG HaRudHal i
il :

- 3T SERE]

RI R2 R3RI R2 R3RI R2 R
P, B 6 4 |1 2 1 4 43
P, U4 33 B 1 1
Py o 1 3 4 1 3
P, B 5 3 P 2. 2
Frfaiad IR HYH R fdaR ot

(A). P2-->P4-->P1-->P3 Udh JRA&T 3P ¢ |
(B). P4-->P2-->P1-->P3 Ud QT4 354 g
(C). P4~->P2-->P3-->P1 Ud RI&d 354 g
(D). P1-->P4-->P2-->P3 Udh JRA4T 3P ¢ |
feu TTu foeedi d § 98! Sl i UsdH B

Options :

68019129393. 1
68019129394. 2
68019129395. 3

68019129396. 4

Question Number : 50 Question Id : 6801917480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



We can say that a schedule 1s conflict serializable?

1. It a schedule T can be transformed into a serial schedule U by a series of swaps of
conflicting operations.

2. If a schedule T can be transformed into a serial schedule U by a series of swaps of
nonconflicting operations.

3. If a schedule T can be transformed into a nonserial schedule U by a series of swaps of
conflicting operations,

4. If a schedule T can be transformed into a nonserial schedule U by a series of swaps of
nonconflicting operations.

Options :

68019129397. 1
68019129398. 2
68019129399. 3

68019129400. 4

Question Number : 50 Question Id : 6801917480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 Pg Had § 0D Yo PAGaae YiNgazuied oel oIu afg

1 afe S T e i R SR 3 e 3 diae e u A
T o qb
2 T TSI T W A R P SR B e S did Serg U
B gqal o 9
3. 77 TEIE T W A PR Ry @ e 4 9Rea Sem U d
T o qb
1.7 VST T W aifp A5 T SR B e & 5 S e
UH ea1 o1 9o
Options :
68019129397. 1
68019129398. 2
68019129399. 3

68019129400. 4

Question Number : 51 Question Id : 6801917481 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

On a system using simple segmentation, following is the segment table:

Segment [ imit Base
0 300 1000
1 200 2000
2 300 2500
3 100 1700

What 1s the physical address for the logical address 2, 2127

W 18
512

2212
4. 2800

Options:

fad Iod —

68019129401. 1
68019129402. 2
68019129403. 3
68019129404. 4

Question Number : 51 Question Id : 6801917481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

30 YIECT &1 3UGI B ATl WUl 1 YHeR e Fafaied

e e Sg
0 500 1000
1 200 2000
2 300 2500
3 100 1700
AIforpd TS 2. 212 B [hividhd Ty &l BT 2

1.2712

2.2

3.2212

4, 2800
Options :

68019129401. 1



68019129402. 2
68019129403. 3

68019129404. 4

Question Number : 52 Question Id : 6801917482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many child processes will be created by following fork( ) system call?
tork():
tork():
tork():
tork():

4

.16

B
4.3

Options :

fas B2 —

68019129405. 1
68019129406. 2
68019129407. 3
68019129408. 4

Question Number : 52 Question Id : 6801917482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FEfeREd fork( ) T Did I fhd-1 Hdfd ufhart (@ges Uk ) &4
tork():
tork():
tork():
tork();

1.4
2.16
= b
4.3

Options:

L]



68019129405. 1
68019129406. 2
68019129407. 3

68019129408. 4

Question Number : 53 Question Id : 6801917483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

LISTI LISTII
A |Critical Region| 1. |Circular wait
B. |Working Set II. |Condition variable
C. |Deadlock III. |Principle of locality
D. |Wait/signal IV, |Mutual exclusion

Choose the correct answer from the options given below:

(A)-(IV).(B) - (IIT). (C) - (I). (D) - (II)
. (A) - (IV). (B) - (III). (C) - (I). (D) - (I)
. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)
4. (A) - (IT). (B) - (AV). (C) - (I). (D) - (II)

fag b2 —

Options :

680191294009. 1
68019129410. 2
68019129411.3
68019129412. 4

Question Number : 53 Question Id : 6801917483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 BT YHI-11 o FIY HeTH i

T 1 I
fepfempa o | 1 [Uper e
afbT T IL. [63EH IRTad
SEai® 111 |fOiaeT 1% didect
de/fmd | IV, | TeRTaeRH

2 Ry e § & o SR

. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)
- (A) - (IV). (B) - (III). (C) - (II). (D) - (I)
. (A) - (IIT). (B) - (IV). (C) - (II). (D) - (I)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

=

o|o|w

|

T2

Options :

680191294009. 1
68019129410. 2
68019129411. 3

68019129412. 4

Question Number : 54 Question Id : 6801917484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How does the number of page frames affect the number of page faults for a given memory
access pattern in FIFO page replacement algorithm?

1. Increasing the number of page frames always decreases the number of page faults.

2. Increasing the number of page frames may increase or decrease the number of page faults
depending on the memory access pattern.

3. Increasmg the number of page frames always increases the number of page faults.

4. Increasing the number of page frames has no effect on the number of page faults.

Options :

68019129413. 1
68019129414. 2
68019129415. 3

68019129416. 4



Question Number : 54 Question Id : 6801917484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

5 (O ) o1 1 G FIFo U Raigde Teiifyd # fiu o dnid v ded % fn i
Wice & W1 S H4 WHIfad Tl 87

1. U1 359 o1 TS 9g1- € BAY U Biee &1 98I & & ol 6|

z.h%ﬁ@@@%ﬁﬁ%wwwﬁa%ﬁﬁw%m%
gl gl

3. U IH @1 OG0T €T 9§ 5991 U1 Biee oI 981 96 Wil o

4. U5 5 91 T §g 1 8 U Biee @1 %0 R i T4 Toi Usdl ol

Options :

68019129413. 1
68019129414. 2
68019129415. 3

68019129416. 4

Question Number : 55 Question Id : 6801917485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Decreasing the RAM of a computer typically leads to which of the following outcomes?

1. Virtual memory increases.
2. Page faults increases.
3. Page faults decreases.
4, Segmentation faults occur.

Options :

68019129417. 1
68019129418. 2
68019129419. 3
68019129420. 4

Question Number : 55 Question Id : 6801917485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

SR B 7 T PH IR I 1 IR R Hafi@d & S s aRom giarg 2

1. 9Y3d THR] 9¢ Sdl g
2. U Wiee d¢ Wdl o |

3. U9 Wiee U¢ Wil &

4. YITECYH Blee 4T ST 51

Options:

68019129417.1
68019129418. 2
68019129419. 3

68019129420. 4

Question Number : 56 Question Id : 6801917486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What are the ways to implement a priority Queue?

(A). Arrays

(B).Fibonacei tree

(C).Heap Data Structure

(D).Linked list

Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (B). (C) and (D) only.
. (A). (B) (C) and (D)

4. (A). (C) and (D) only:.

|

Laa

Options :

68019129421. 1
68019129422. 2
68019129423.3

68019129424. 4

Question Number : 56 Question Id : 6801917486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

WIRE! T 3FeiHE T3 & o1 P o7
(A) IR & g g

(B) fthalHTe! <1 & greqm o

(C) B9 STeT Wk & HIeOH I

(D) feids foRe & Aregg o

1 14U T fdeedl § 9 Tel SR :

1.%ad (A). (B) 3R (D)
2.%dd (B), (C) AR (D)
3. (A). (B). (C) 31} (D)

4.%ad (A), (C) 3R (D)

Options :

68019129421. 1
68019129422. 2
68019129423.3
68019129424. 4

Question Number : 57 Question Id : 6801917487 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Each node 1s having a successor node in

1. Smgly linked list

2. Smgly Circular Linked list

. Doubly Linked list

4. Not Possible in any linked list

Taa

Options :

68019129425. 1
68019129426. 2
68019129427.3

68019129428. 4

Question Number : 57 Question Id : 6801917487 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

....................................... $ UAE IS H TP GauER A1S Bl §
1. Rt foiers foree
2. RiTelt gger foigs fawe
3. Sqdl fdds fore
4. Tt i eigs fere f dwa i &

Options :

68019129425. 1
68019129426. 2
68019129427. 3

68019129428. 4

Question Number : 58 Question Id : 6801917488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider implementation of a database. Among the following options, choose the most
appropriate data structure for this,

. B+ tree

. Linked list
. Queue

4. Stack

Options :

fag b3 —

68019129429. 1
68019129430. 2
68019129431. 3

68019129432. 4

Question Number : 58 Question Id : 6801917488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
TP STIeY $I e Hd & oy Fafeiad srer waeR [deedl O 998 IugH fdped
1.B+¢l
2. fdgs foe
3.9
1. KD
Options :
68019129429. 1
68019129430. 2
68019129431. 3

68019129432. 4

Question Number : 59 Question Id : 6801917489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If we want to find last node of a singly linked list then the correct coding 1s

. 1f (temp—link ! = NULL) temp = temp—link

. 1if (temp—data ==Num) temp = temp-link

. While (temp-link ! = NULL) temp = temp-link
4. While (temp-link ! = data) temp = temp-link

b =

Taa

Options :

68019129433, 1
68019129434. 2
68019129435. 3

68019129436. 4

Question Number : 59 Question Id : 6801917489 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR g9 RiTrd feigs fore o1 sifdw =S WieHT 9r8d & ol 9al &1S &:

. it (temp-link ! = NULL) temp = temp—-link

. it (temp—data = =Num) temp = temp-link

. While (temp-link ! = NULL) temp = temp—link
. While (temp-link ! = data) temp = temp-link

I =

e faa

Options :

68019129433. 1
68019129434. 2
68019129435. 3

68019129436. 4

Question Number : 60 Question Id : 6801917490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider a completely skewed (left / right) bmary search tree with n elements. What 1s the worst
case time complexity of searching an element in this tree?

Options :

68019129437. 1
68019129438. 2
68019129439. 3
68019129440. 4

Question Number : 60 Question Id : 6801917490 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



68019129437. 1
68019129438. 2
68019129439. 3

68019129440. 4

Question Number : 61 Question Id : 6801917491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the follwoing 1s not an application of Stack?

1. Tower of Hanoi
2. Recursion

3. Voter polling station
4, Parantheses Matching

Options :

68019129441. 1
68019129442, 2
68019129443. 3

68019129444. 4

Question Number : 61 Question Id : 6801917491 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



frafefad § @ & 91 @ &1 TEie e Tal 82

1. TTaR ATH &g

2. =

3. gIex UIfeiTT T-H

4, g o=
Options :
68019129441. 1
68019129442, 2
68019129443, 3

68019129444. 4

Question Number : 62 Question Id : 6801917492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the follwoing tree. This1sa/ an

. AVL Search Tree

. Binary Tree

3. Binary Search Tree
4. Fibonacci Tree

I3 =

Options :

68019129445 1
68019129446. 2
68019129447. 3
68019129448. 4

Question Number : 62 Question Id : 6801917492 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FRTEA ST T E o, el

~

AVLEUH

CIEREIE]

aﬁqﬁ%ﬁ
fepaTATasT of

u

IJI—‘

L.u

4.
Options :

68019129445 1
68019129446. 2
68019129447. 3

68019129448. 4

Question Number : 63 Question Id : 6801917493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following integers are needed to be sorted in ascending order using bubble sort.
5.8.22.181

Following are the results of various passes during the sorting process.

(A). 5.1.8.18.22

(B). 1.5.8.18.22

(C). 5,8,18.1,22

(D). 5.8,1.18,22

Choose the correct sequence of passes.

(C). (D). (B). (A
A(C). (D). (A). (B
3. (D). (C). (A). (B
4. (D). (C). (B). (A)

1. ).
1 ).
)



Options :

68019129449. 1
68019129450. 2
68019129451. 3
68019129452. 4

Question Number : 63 Question Id : 6801917493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRREd quife 1 580 Sic 31 SUaR IR RIS HH 1§ HHES DX B IS 5:
5,8,22,18.]

e s & R ol ur o aRom Fafefed ¢

(A)5,1.8,18.22

(B) 1.5.8.18.22

(C)5.8.18,1.22

(D) 5.,8,1,18.22

1Y 1 Hel 0 T+

Options:

68019129449. 1
68019129450. 2
68019129451.3

68019129452. 4

Question Number : 64 Question Id : 6801917494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-I with List-II

LISTI LISTII
Algorithms Complexity
Bellman - Ford algorithm (with adjacency .2
% list representation) L 1O (V[
B. |Dykstra Algorithm II. JO{(V+E)log V)
C. |Prim's Algorithm I |O{nm)
D. Tapulngu:a_l sorting (with adjacency list V. |o(e+m)
representation)

Choose the correct answer from the options given below:

. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)
- (A) - (D). (B) - (IV). (C) - (II). (D) - (I)
(A) - (). (B) - (IV). (C) - (I). (D) - (II)
4. (A) - D). (B) - (). (C) - (III). (D) - (IV)

2 =

L]

Options :

68019129453, 1
68019129454, 2
68019129455, 3

68019129456. 4

Question Number : 64 Question Id : 6801917494 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 BT YHI-11 o FIY HeTH i

ﬂ_[ 11

A |TTHA-0TS TETiReH (s fore o I—

- (Rt & Ty eV
B. |fGoiatal TENGH I |O((V+E)log V)
C. [d TeiReH I1I. |O(nm)
5 clacsiiae FiET @god fire i |otasm

" |RueieTH & 1Y) ;

e feu e fam el & 9 Hel 3R -

1. (A) - (IIT). (B) - (I). (C) - (I). (D) - (IV) )

2. (A)-(II). (B) - (IV). (C) - (IlT). (D) - (I)

3. (A) - (IlI). (B) - (IV). (C) - (I). (D) - (II)

4. (A) - D). (B) - ). (C) - (III). (D) - (IV)
Options :
68019129453. 1
68019129454, 2
68019129455. 3

68019129456. 4

Question Number : 65 Question Id : 6801917495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the increasing order of their asymptotic complexities.
(A) Insertion sort (best case)

(B) Bubble sort (worst case)

(C) Binary Search ( worst case)

(D) Merge sort (worst case)

1. (A). (C). (B). (D)
2. (D). (A). (C). (B).
3.(A). (B).(C). (D)
4. (C). (A). (D). (B).

Options :
68019129457. 1

68019129458. 2



68019129459. 3
68019129460. 4

Question Number : 65 Question Id : 6801917495 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RRad sfeh RS @l HRWIcE HIiidIc] & S¢d HH H gaieyd B
(A) SHLTHIC (@ DY)

(B) 98d TI¢ (9% &9 )

(C) IR 99 (G% &9

(D) Hol TI¢ (A% 954 )

- f&u U fasedl § § Hel 3R -

1.(A). (C). (B).(D)
2. (D). (A). (C). (B).
3.(A). (B).(C). (D)
4.(C). (A). (D). (B).

Options:

68019129457. 1
68019129458. 2
68019129459. 3
68019129460. 4

Question Number : 66 Question Id : 6801917496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the following statements

(A). RAM is a combinational circuit
(B). RAM 1s sequential circuit

(C). PLA 1s a combinational circuit
(D). PLA is a sequential circuit

Which of the above statements are true

.(A) and (D) only.
.(B) and (C) only:.
.(B) and (D) only.
. (A) and (C) only.

|

e g



Options :

68019129461. 1
68019129462. 2
68019129463. 3

68019129464. 4

Question Number : 66 Question Id : 6801917496 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frrafefad Syl R faaR &% -

(A) ¥ TP Ggad ukay §
(B) X U@ Srgpir® uRuY 3

() HiTTg U HYad uRuy §

(D) UIYeY U@ S T uiRay &
OUR feU 7Tt fasbedl & 9 Wl oy I

1. %ad (A) 3R (D)
2. %ad (B) 3R (C)
3. %dd (B) 3R (D)
4. B (A) 3R (0)

Options :

68019129461. 1
68019129462. 2
68019129463. 3
68019129464. 4

Question Number : 67 Question Id : 6801917497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Given ,/(224)  =(13); where r is the radix. The value of r is

18
. 8
3.5

4.6
Options :

|

68019129465. 1
68019129466. 2
68019129467. 3
68019129468. 4

Question Number : 67 Question Id : 6801917497 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&ar T , /(224), = (13), S161 + JAID & | + DT A &

0

fag o —
Lh 00—

[,

4.
Options:
68019129465. 1
68019129466. 2
68019129467. 3

68019129468. 4

Question Number : 68 Question Id : 6801917498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let A’ represents complement of A, Which of the following boolean expressions 1s/are true?
(A). A+AB =A

(B). (A+B)=A'B'

(C). (A=A

(D). (AB) =A'+B

Choose the correct answer from the options given below:

1.(A).(B ]land (D) only.
1 a

(
.(A) and (D) only.
3.(A). (B). (C) and (D)
4. (B) and (D) only.

Options :

68019129469. 1
68019129470. 2
68019129471.3

68019129472. 4

Question Number : 68 Question Id : 6801917498 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

%F%faﬁﬁuﬁm A. T3S $1 WiH1EE Sl 5| Fafaied § 9 o W gien teRE 9d
(A). A+AB =A

(B). (A+B)=AB'

(). (A=A

(D). (AB) =A'+ B

i feu e fowedl 4 4 TR SR T

Options :

68019129469. 1
68019129470. 2
68019129471.3
68019129472. 4



Question Number : 69 Question Id : 6801917499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The range of integers that can be represented by a 2's complement number system is
where 1s n 1s number of bits in number.

J“—]. to 2 -1 1

N
3.(2*4 1)to (2™ -1)
q ']i' LTO 'm"l

4.2+ Do @F1-1)
Options :
68019129473. 1
68019129474, 2
68019129475. 3

68019129476. 4

Question Number : 69 Question Id : 6801917499 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2's PIIHC HSAT YU H GFCOR B ¥of & 15781 » fdeg &l 9= §
grstipank

_[1:'?—]_ i 1} to {2??—1 _ 1]

']i"i ITD:I—I

4 (qﬂ? I"‘lj to L". ?—1 }

'LH = =

Options :

68019129473. 1
68019129474. 2
68019129475. 3

68019129476. 4

Question Number : 70 Question Id : 6801917500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in inereasing order of their per unit cost.
(A). DRAM.

(B). Magnetic disk.

(C). Optical disk.

(D). SRAM.

(E). Magnetic tape.

Choose the correct answer from the options given below:

1. (E). (C). (B), (A). (D).
2. (E). (C). (B). (D). (A).
.(C). (B). (E). (D). (A).
4. (C). (B), (D). (E). (A).

Taa

Options :

68019129477. 1
68019129478. 2
68019129479. 3

68019129480. 4

Question Number : 70 Question Id : 6801917500 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad o S9! uld g@E arld & 9¢d ©F § oIaleyd oy |

2 few o fawedi & & v SR

1. (E). (C). (B). (A). (D).
2. (E). (C). (B). (D). (A).
3.(C). (B). (E). (D). (A).
4. (C). (B). (D). (E). (A).

Options :
68019129477. 1
68019129478. 2



68019129479. 3
68019129480. 4

Question Number : 71 Question Id : 6801917501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The function represented by the k-map given below 1s

k-map
C\AB |00 |01 |11 10
0 LR EN
1 0]J]O0]1]0

1. BC+ AB+AC

2.BC'+AB +AC

3. (BEC)

4. ABC
Options:

68019129481. 1
68019129482. 2
68019129483. 3

68019129484. 4

Question Number : 71 Question Id : 6801917501 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

=i 3T 7TQ %A gRY i T BeRE §

k-map

CAB |00 |01 11|10
0 g ]1|E]|:d

1 g 1aTtl1l

1. BC+ AB+ AC
2.BC'+AB+AC
3. (BHC)

4. ABC

Options:



68019129481. 1
68019129482. 2
68019129483. 3

68019129484. 4

Question Number : 72 Question Id : 6801917502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Alogic circuit , that can add two 1-bit numbers and produce output for sum and carry but cannot
handle carry input. 1s called

1. Half adder
2. Full adder
3. Multiplexer
4. Encoder

Options :

68019129485. 1
68019129486. 2
68019129487. 3

68019129488. 4

Question Number : 72 Question Id : 6801917502 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o Tt e, Sl 3 1-fde el oI g Fopel § 3R 4 SR ) P e srgege o1
STE B GOl &, T DYl Bl 88T ol THAT . TH oo el TNl g

LEMP TR
2. B TS
3. A IR
4, DI

Options :

68019129485. 1

68019129486. 2



68019129487. 3
68019129488. 4

Question Number : 73 Question Id : 6801917503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The 1dea of cache memory is based on the which of the following?

1. Principle of locality of reference.

2. Based on the fact that large portion of a program 1s referenced relatively frequently.
3. Principle of 10-90 rule

4. Non volatile storage

Options :

68019129489. 1
68019129490. 2
68019129491. 3

68019129492. 4

Question Number : 73 Question Id : 6801917503 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PYHEN Fafifgd § 9 fou W a2

1. i T dlidparet ot R
2. 3H T & YR R (o U HHIGY & 99 (o8 P SULTPT SRR Halid foal il &
3. fUfgOd 1w 10-00 ¥

4. 3G YERM
Options :
680191294809. 1
68019129490. 2
68019129491. 3

68019129492. 4



Question Number : 74 Question Id : 6801917504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List-I with List-II

LISTI LISTII
A |Flash memory | 1. |Oldest and Slowest
B. |PMOS II. |Used 1n large scale integration(L5I)
C. |[NMOS I11. |Least power consumption.
D lemos v ;\Dc;r: i;zlﬂeil;?._ﬂs}.{ which is powered

Choose the correct answer from the options given below:

(A) - (@). (B) - (IV). (C) - (III). (D) - (II)
(A - (1), (B) - (IV). (C) - (II). (D) - (IIT)
- (A) - (IV), (B) - (I), (C) - (IIT), (D) - (II)
(A)-(IV). (B) - (1. (C) - (II). (D) - (III)

|

e T

Options:

68019129493. 1
68019129494. 2
68019129495. 3

68019129496. 4

Question Number : 74 Question Id : 6801917504 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



-1 BT YHI-11 o FIY HeTH i

T I EGIBL
A |TRTE BN L |9ed QAT 3R 999 T
B. [diuHaity 11 (@6l b SRR (TauaHTs) H ugad
C. |tquRaTg |10 |[&H Y & faeic & 9ud
D. |diumsfinyg IV, | SeT ¥ off fiar garfed &

2 Ry e § & o SR

L. (A) - (I). (B) - (IV). (C) - (IIT). (D) - (II)
2. (A)-(I). (B) - (IV). (C) - (II). (D) - (III)
3. (A) - (IV), (B) - (1), (C) - (II), (D) - (II)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (III)

Options :

68019129493, 1
68019129494 2
68019129495. 3

68019129496. 4

Question Number : 75 Question Id : 6801917505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-T with List-II

LISTI LISTII

A pulse that cause a logic device to be
activated or change state

A |Asvnchronous | L

The operation 1s not executed in step with

B. |Trigger L lihe clock

Flip flop that atleast set , reset, toggle and

il p e || hold modes of operation.

Flip flop with atleast set and reset modes
of operations

D. |D flip flop IV.

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
3.(A) - (IID). (B) - V). (C) - (I). (D) - (I)
4. (A) - (1), (B) - (1), (C) - (IV). (D) - (III)

Options :



68019129497. 1
68019129498. 2
68019129499. 3

68019129500. 4

Question Number : 75 Question Id : 6801917505 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YI-1 &1 I-11 & Ty fie- sRe.
T -1
A |HEREE | L [ &34 a1 FUfG seaH @l R
EERINS
HIREH Sl Fild & 9y LY H
B. |feTR I e = oo 2
o [PEHE |y, [ v e 59 4 &5 ¥e, v
| " |eiTTE SR B Hig A SIREH &f
o | ., |TTY il o & I ®H I, e
D. [Slfdeagara |1V qIgd 31t AT gl
1 fau U fd el T 9§ 981 SR 9:

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (D). (B) - (I). (C) - (IIT). (D) - (IV)
3.(A) - (). (B) - (IV). (C) - (II). (D) - (I)
4.(A) - (T). (B) - (1), (C) - (IV). (D) - (IIT)

Options :

68019129497. 1
68019129498. 2
68019129499. 3
68019129500. 4



